

$$y' = ky \Rightarrow y(t) = Ce^{kt} \text{ and } a, b$$

① Simple Math Review

1) Find det(A), $\|A\|$ is vol, $\|v\|$ or scale

$$SKdt = Kt + C$$

2) Find GV , ϵ increases

converging

converging

$$\int \frac{dy}{y(L-y)} = \frac{1}{L} \left(\int \frac{1}{y} + \frac{1}{L-y} dy \right)$$

$$DE: y' = ky(L-y)$$

$$= \frac{1}{L} \left[\ln|y| - \ln|L-y| \right] + C$$

$$\frac{dy}{dt} = ky(L-y)$$

$$= \frac{1}{L} \left[\ln \left(\frac{y}{L-y} \right) \right] + C$$

$$\frac{dy}{y(L-y)} = Kdt$$

~~Problem~~

$$\mathcal{L}\left[\frac{1}{L-y} \ln\left(\frac{y}{L-y}\right)\right] = Kt + c$$

$$e^{\mathcal{L}\left[\ln\left(\frac{y}{L-y}\right)\right]} = \mathcal{L}[Kt + c]$$

$$\frac{y}{L-y} = e^{Kt+c}$$

$$\frac{y}{L-y} = Ce^{Kt}$$

$$y = (L-y)Ce^{Kt}$$

$$y = LCe^{Kt} - yCe^{Kt}$$

$$y + yCe^{Kt} = LCe^{Kt}$$

$$y(1 + Ce^{Kt}) = LCe^{Kt}$$

$$y = \frac{LCe^{Kt}}{1 + Ce^{Kt}}$$

$$y = \frac{L}{1 + Ce^{-Kt}}$$

$$y(t) = \frac{L}{1 + ce^{-kt}}$$

$$\lim_{t \rightarrow \infty} \left[\frac{L}{1 + ce^{-kt}} \right] = L$$

$$R = \begin{pmatrix} 0 & 1 \\ -r & 4 \end{pmatrix}$$

Eigenvalues: $\det(R - \lambda I) = 0 \Rightarrow \det \begin{pmatrix} -\lambda & 1 \\ -r & 4-\lambda \end{pmatrix} = -\lambda(4-\lambda) + r = 0$

$$\lambda^2 - 4\lambda + r = 0$$

$$\lambda_1 = 2+i, \lambda_2 = 2-i$$

Eigenvalues: $Rv = \lambda v \Rightarrow (R - \lambda) v = 0$

For $\lambda_1 = 2+i$:

$$\begin{pmatrix} -2-i & 1 \\ -r & 4-(2+i) \end{pmatrix} \begin{pmatrix} v_1 \\ v_2 \end{pmatrix} = \begin{pmatrix} -2-i v_1 + v_2 = 0 \\ -r v_1 + (2+i) v_2 = 0 \end{pmatrix}$$

From the first equation: $v_2 = (2+i)v_1$

Substituting into the second equation: $-r v_1 + (2+i)(2+i)v_1 = 0$

$$-r v_1 + 5v_1 = 0 \Rightarrow v_1 = 0$$

$$\begin{pmatrix} v_2 = v_1(2+i) \\ v_1 \end{pmatrix}$$

Any multiple of $\binom{1}{2+i}$ is eigenvalue, i.e. $(2-i) \binom{1}{2+i}$ $\binom{2-i}{f}$

All right

Solve $X' = AX$, $A = \begin{pmatrix} 2 & 3 \\ 4 & 3 \end{pmatrix}$

① n linearly independent \vec{v} values

② n linearly independent \vec{v} values

③ n linearly independent \vec{v} values

$\det(A - \lambda I) = 0$ as 2nd degree polynomial

n linearly independent \vec{v} values

$\lambda = 6$, $v_1 = \begin{pmatrix} 3 \\ 4 \end{pmatrix}$
 $\lambda = -1$, $v_2 = \begin{pmatrix} -1 \\ 1 \end{pmatrix}$

Conclusion

$X(t) = c_1 v_1 e^{\lambda_1 t} + c_2 v_2 e^{\lambda_2 t}$ is general solution

$$\underline{\text{Ex}} \quad X(t) = c_1 \begin{pmatrix} 2 \\ 1 \end{pmatrix} e^{6t} + c_2 \begin{pmatrix} -1 \\ 1 \end{pmatrix} e^{-t}$$

ix.

check!

$$X' = AX + G$$

$$X_1'(t) = c_1 2e^{6t} - c_2 e^{-t}$$

$$X_1' = \begin{pmatrix} 2 & 3 \\ 4 & 3 \end{pmatrix} \begin{pmatrix} X_1 \\ X_2 \end{pmatrix} + \begin{pmatrix} 2 \\ 2 \end{pmatrix}$$

$$X_2'(t) = c_1 4e^{6t} + c_2 e^{-t}$$

$$X_1'(t) = c_1 \underbrace{2e^{6t}} + c_2 \underbrace{e^{-t}} = 2X_1(t) + 3X_2(t) + c_1 2e^{6t} - 2c_2 e^{-t} + c_1 2e^{6t} + c_2 e^{-t}$$

$$X_2'(t) = c_1 2e^{6t} - c_2 e^{-t} = 4X_1(t) + 3X_2(t)$$

Case 1: Two values are complex conjugates: $\mu + i\nu$ and $\mu - i\nu$

$$\lambda_1 = \mu + i\nu = (e^{\mu + i\nu t})$$

$$e^{i\theta} = \cos(\theta) + i\sin(\theta)$$

$$\begin{aligned} v_1 e^{\lambda_1 t} &= (\mu + i\nu) e^{\mu t} e^{i\nu t} \\ &= (\mu + i\nu) e^{\mu t} (\cos(\nu t) + i\sin(\nu t)) \end{aligned}$$

$$= \mu e^{\mu t} \cos(\nu t) - \nu e^{\mu t} \sin(\nu t) + i(\nu e^{\mu t} \cos(\nu t) + \mu e^{\mu t} \sin(\nu t))$$

$$X(t) = c_1 e^{\lambda_1 t} + c_2 e^{\lambda_2 t} = c_1 e^{\mu t} (\cos(\nu t) + i\sin(\nu t)) + c_2 e^{\mu t} (\cos(\nu t) - i\sin(\nu t))$$

is solutions

$$X^{-1} = \begin{pmatrix} -1 & -6 \\ 3 & 1 \end{pmatrix} X$$

Eigenvalues $2 \pm 3i \Rightarrow \lambda = 2, \lambda = -1$

Eigenvectors $\begin{bmatrix} -1+3i \\ 1 \end{bmatrix}, \begin{bmatrix} -1 \\ 1 \end{bmatrix} \Rightarrow a_1 \delta, a_2 \begin{bmatrix} -1 \\ 1 \end{bmatrix}, s = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$

$$X(t) = c_1 e^{2t} \begin{pmatrix} -1 \\ 1 \end{pmatrix} \cos(3t) + c_2 e^{2t} \begin{pmatrix} 1 \\ 0 \end{pmatrix} \cos(3t) + \begin{pmatrix} -1 \\ 1 \end{pmatrix} \sin(3t) + \begin{pmatrix} -1 \\ 1 \end{pmatrix} \sin(3t)$$

$$X_1(t) = c_1 e^{2t} \begin{pmatrix} -\cos(3t) - \sin(3t) \\ \cos(3t) \end{pmatrix} + c_2 e^{2t} \begin{pmatrix} \cos(3t) - \sin(3t) \\ \cos(3t) \end{pmatrix}$$

Check it!!!

$$X_1'(t) = \dots = -X_1(t) + \cos(3t)$$

$$X_2'(t) = \dots = X_2(t) + \sin(3t)$$

$$X(0) = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$x_1(0) = 1 = -c_1 + c_2$$

$$x_2(0) = 1 = c_1$$

$$\Rightarrow c_1 = 1, c_2 = 2$$

Plot solution